《中国化马克思主义理论体系概论》自学作业题

第一章  

1、如何正确理解马克思主义中国化的科学内涵？
2、如何正确把握科学发展观的思想内涵和重大意义？ 

第二章

1、实事求是思想路线的基本内容有哪些？ 
2、为什么说实事求是是马克思主义中国化各个理论成果的精髓？

第三章 

1、新民主主义革命总路线的主要内容是什么？如何理解新民主主义革命的领导权问题？
2、新民主主义基本纲领的主要内容是什么？
第四章 

1、我国社会主义改造的基本经验是什么？
2、如何认识中国确立社会主义基本制度的重大意义？

第五章 

1、如何正确理解社会主义的本质？  2、如何理解发展是党执政兴国的第一要务？

第六章 

1、如何理解社会主义初级阶段的科学内涵及其基本特征？

2、党在社会主义初级阶段的基本纲领的主要内容是什么，如何理解党的最高纲领和最低纲领的统一？ 

第七章  

1、怎样全面认识中国的社会主义改革？  2、如何正确处理改革、发展、稳定之间的关系。

第八章

1、社会主义市场经济理论主要内涵是什么？2、社会主义市场经济体制的基本框架是什么？

第九章  

1、如何正确理解坚持党的领导、人民当家作主和依法治国的有机统一？

2、什么是依法治国？实行依法治国的意义何在？

第十章  
如何理解社会主义核心价值体系的主要内容及其相互关系？
第十一章 
 如何准确把握社会主义和谐社会的科学内涵？
第十二章 
 “和平统一、一国两制”构想的基本内容和重要意义是什么？
第十三章 
  独立自主和平外交政策的基本原则是什么？
第十四章  

1、如何理解党的领导是中国社会主义现代化建设的根本保证？

2、如何理解新的社会阶层也是中国特色社会主义事业的建设者？
        《高等数学》自学作业题

一、选择题

1、函数
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6、函数
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二、填空题

1、设
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7、函数
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三、计算题

1、求
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四、证明题

1、求证：方程
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《成人教育英语1》自学作业题
Part I Vocabulary and Structure (15 minutes, 15 points) 单项填空

　　

Directions: There are 15 incomplete sentences in this part. For each sentence there are three choices marked A,B and C. Choose the ONE that best complete the sentence. Then you should mark the corresponding letter.

1. He won't go to bed _____ his father comes back from work.

　　A. since   B. until    C. when

　　2. He asked me _____ I would like a cup of tea.

　　A. that    B. what C. if

　　3. Be quiet! The children ________.

　　A. sleep B. are sleeping C. slept

　　4. Do you know ______ this word?

　　A. what to spell B. how to spell C. to spell

　　5.The students couldn't help ______ when they heard the joke.

　　A. to laugh B. laugh C. laughing

　　6.I've never seen ________ boy.

　　A. so tall B. a such tall C. such a tall

　　7. —— I don't like milk. —— I don't, _________.

　　A. too B. neither C. either

　　8. I want to buy ________.

　　A. something eat B. something to eat C. anything to eat

　　9. —— I’m sorry I can't help you. —— ________.

　　A. Not at all. B. You are welcome. C. It doesn't matter.

　　10. Mrs. Zhang is a friend of _______.

　　A. John's mother   B. mother of John   C. John's mother's

　　11. There _____ two cups of tea on the table.

　　A. is B. are C. was

　　12. There are thirty pupils in our class. _____ of them is a young pioneer.

　　A. any B. either C. all

　　13. —— There isn't _____ water here. Could you get _____ for me? —— All Right.

　　A. some, any    B. any, any     C. any, some

14. —— You look so beautiful in this white skirt. —— __________.

　　A. That's all Right. B. Thank you. C. Not at all.

　　15. When she listens to a talk, she likes to sit ________.

A. in front   B. at front    C. in front of
Part II Cloze (10 minutes, 10 points)
Directions: There are 10 blanks in the following passage. For each blank there are three choices marked A, B and C beneath the passage. You should choose the ONE that best fits into the passage. Then mark the corresponding letter.
The computer is fast, and never makes mistakes. People are slow, and often _16___ mistakes. That's what people often say when they ___17__ computer. For over 25 years, engineers have been making ___18___ computers. Now a computer can do __19___ everyday jobs wonderfully. It is _20__ used in factories, hospitals, banks and schools. Many computer scientists are now thinking of ___21__ the computer “think” like a man. ___22__ the help of a person, a computer can do many things. Perhaps computer will one day __23___ think and feel. Do you think people will be __24__ when they find that the computer is ___25__ clever to listen to and serve the people?
16. A. do B. make C. has

17. A. speak to B. say C. talk about

18.A. better and better B. many and many C. little and little

19. A. the number of B. a great deal C. a lot of

20. A. not B. hardly C. widely

21. A. asking B. telling C. making

22. A. by   B. with C. for

23. A. really B. truly C. true

24. A. fearful B. surprise C. afraid

25. A. too B. very C. much
Part III Wor Matching. (5minutes, 5 points)
Directions: There are two columns of words and phrases, match the phrase in Column A with the word in Column B of similar meaning. Then mark the corresponding letter.

  Column A                                  Column B

26. like doing something                       A. call

27. talk about something with someone else        B. speak

28. let somebody know something                C. ask

29. shout out                                  D. tell

30. try to find something out from someone         E. discuss 

F. enjoy 

G. say
Part IV   Reading Comprehension  （40 minutes, 40 points）

Directions: There are 4 reading passages in this part. Each passage is followed by some questions 

         or unfinished statements. For each question there are three choices marked A,B and C. After you read a passage, you should decide on the best choice and then mark the corresponding letter. 

Passage 1
Questions 31-35 are based on this passage.
　　Mr. Johnson is the boss of trucking. His office is in a mess. There are papers, books and boxes everywhere. Nothing is clean, and nothing is in order. He needs a good secretary.

　　Mrs. Santana wants the job. She's in his office for an interview. He's surprised because she's an old woman and she has no office experience.

　　Mrs. Santana is talking, “I am the Right person for this job. I'm a good talker and I'm friendly on the telephone. I'm a good word professor operator（文字处理操作员）. I can type sixty words a minute on a computer. Last year I took lessons in computers and keyboarding. I'm a mother. I have five children, and they knew more about computers than I did! Two of them helped me with these lessons. With five children, I have to be organized and I am. My house is clean and in order. I'm sure you want your office the same way. ”

　　Mr. Johnson is interested.

　　“Mr. Johnson, look at your office. Papers are everywhere. Your basket is full. the date on your calendar（日历） is fifth. Today is tenth. I can take care of everything in your office. And I am a hard worker. Mr. Johnson, I'm the Right person for this job.”
　　Mr. Johnson is sitting in his chair and smiling, “Mrs. Santana, when can you start?”

　　31. Mr. Johnson wanted a young and beautiful secretary to help him.

　　A. Right B. wrong C. doesn't say

　　32. Mr. Johnson had an interview with Mrs. Santana on the telephone.

　　A. Right B. Wrong C. Doesn’t say

　　33. Mrs. Santana believed she could do the job well.

　　A. Right B. Wrong C. Doesn’t say

　　34. Mr. Santana agrees his wife to work as a secretary.

　　A. Right B. Wrong C. Doesn’t say

　　35. Mrs. Santana got the job easily.

A. Right B. Wrong C. Doesn’t say

Passage 2
Questions 36-40 are based on this passage.
　　An old lady lived near Dr. Swift. She sent him presents occasionally by her servant. Dr. Swift took her presents but never gave the boy anything for his trouble. One day as Swift was busy with his writing, the boy rushed into his room, knocked some books out of their place, threw his bag on the desk and said, “My mistress has sent you two of her hares.”

　　Swift turned round and said, “my boy, that is not polite. now you sit in my chair, watch and learn your lesson.”

　　The boy sat down. Swift went out, knocked at his door and waited. the boy said, “come in.” swift entered, walked to his desk and said, “my mistress sends her kind regards and hopes you will accept these hares.”

The boy answered, “Thank you, my boy. Give your mistress my thanks for her kindness and here are two shillings for yourself.”

Dr. Swift laughed, and after that, Swift never forgot to give the boy his tip.

36. What did the boy get for delivering presents at the beginning?

　A. Something. B. Nothing. C. Some money.

37. Why did the boy one day deliver the bag rudely?

　　A. Because he could not do it in a polite way.

　　B. Because he was in such a hurry.

　　C. Because he was not satisfied with what Swift had done for his work.

38. What did Dr. Swift want to teach the boy?

　　A. How to deliver things politely.

　　B. How to ask for a tip politely.

　　C. How to speak to others politely.

　  39. What do we know about the boy from the story?

　　A. He was clever enough to learn everything Dr. Swift taught him.

　　B. He was clever enough to understand well what Swift did and said.

　　C. He was clever enough to make swift understand what he wanted.

　  40. Why did Dr. Swift laugh after the lesson?

　　A. Because he was glad to see that the boy learned to be polite.

　　B. Because the boy gave him two shillings for the lesson.

　　C. Because the boy told him what he wanted in an interesting way.

Passage 3
Questions 41-45 are based on this passage.
　　It was on April 10, 1912, when the titanic sailed for New York. She was carrying more than 2200 people.

　　At that time she was not only the biggest but also the finest of all ships, for she had six compartments（密封舱） with her. If four of them were broken, she would still be able to stay on the water.

　　Four days after setting out, while the titanic was sailing across the ocean, the man on watch suddenly saw a very large iceberg, 100 feet tall. The great ship turned in time, but before long there was a sudden sound from below. The noise was so low that no one knew what had happened. The captain went down and was greatly surprised to see that five of her compartments had been broken. The titanic was going down fast.

　　The captain gave the order to give up the ship and hundreds of people jumped out into the water. At least over 1500 people lost their lives because there were not enough lifeboats.

　　41. The titanic was the name of a ________.

　　A. woman B. ship C. captain

　　42. Which statement is true according to the passage?

　　A. not a ship at that time had compartments with her.

　　B. not a ship at that time sailed between England and America.

　　C. not a ship at that time was the same size as the titanic.

　　43. What broke five compartments of the great ship?

　　A. The low noise.  B. The large iceberg. C. The sudden sound.

　　44. Why did the captain decide to give up this ship?

　　A. Because he knew he could do nothing to save it.

　　B. Because a lot of people had jumped into the water.

　　C. Because he knew the icebergs were not far away.

　　45. How many people were saved in the end?

A. Half of the passengers. B. About seven hundred. C. More than 1500.

Passage 4
Questions 46-50 are based on this passage.
Vending machines (自动售货机) sell many different kinds of things. Some of them sell cold drinks like coke or orange juice, or hot drinks like coffee or tea. Others sell sweets, stamps, tickets, newspapers, and other small things. In some cities, vending machines are even used to sell a lot of hot meals. 
　　These machines have been welcomed for two reasons. They save (节省) time and they are convenient (方便的). Things sold in vending machines need no shop assistant or cashier. In many places people can use the machines at any time of day or night, and they can find vending machines everywhere. 
　　Although there are many different sizes and kinds of vending machines, they all work in nearly the same way. People put money into the machine and then open a door to receive what they buy. Some machines will also return change to the people, and a few will even give change to paper notes. But the idea is the same. People like to save time and are usually willing to pay a higher price for this convenience. 
　  46. Many vending machines are used in China. 
　　A. Right  B. Wrong  C. Doesn’t Say 
　　47. Vending machines can be found only in very large cities. 
　　A. Right B. Wrong C. Doesn’t Say 
　　48. In some places the machines work 24 hours a day. 
　　A. Right B. Wrong C. Doesn’t Say 
　　49. Vending machines don’t accept paper notes. 
　　A. Right B. Wrong C. Doesn’t Say 
　　50. The things sold in vending machines are usually more expensive. 
　　A. Right B. Wrong C. Doesn’t Say 
Part V Translation (15 minutes, 15 points)       

Directions: Please translate the following sentences into Chinese. 
51.我最喜欢的节日是中国的春节。

52.吉米每周六都去超市。

53.三明治里有肉和奶酪。

54.她跟谁一起住？

55.鲍勃的妹妹喜欢打篮球。

Part VI  Writing (30 minutes, 15 points)

Directions: For this part, you are allowed 30 minutes to write a composition based on direction: You should write at least 50 words     
　你的朋友Alice要来北京，但你有事不能去机场接她，委托Lily去接她，但她们二人互不认识，请给Alice写一封短信。你在短文中的名字是：Li Ming.

　　你不能去接她；

　　由谁去接她；

　　描述以下Lily的外貌：红裙子、二十多岁、个子不高，戴眼睛
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